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2 129,200 29,200 0
Al 191,970 195,210 £3,240
S 62,770 66,010 £3,240
01 YPBHI 9,900 23,140 £3,240
09 SAIAHIXIRAS 0 3,240 23,240
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O 40l SXIHE NF(SEX A2
23 03 0 3,240 A3,240
SHA2HAYI(F 4 (DIEH/JIEH 70,447 82,447 212,000
JlE3l 59,233 71,233 212,000
J|I2&H 59,233 71,233 212,000
202 04| 40,164 52,164 212,000
01 =LHOAYI 40,164 52,164 A 12,000
OF4H HRFE oY| 36,438 48,438 212,000
—ZHHOHI (Ol At 2E) Z2E 21,696,000 21,696 33,696 12,000
S A A (sHMHLL =Y - 5&) 3,736,830 3,810,104 NT3,274
= 617,730 612,730 5,000
Ay 155,000 155,000 0
= 470,886 469,386 1,500
Al 2,493,214 2,572,988 ANT9,774
SEH0 =YIE J|BEA 2,390,732 2,400,437 29,705
= 508,880 503,880 5,000
Fas 155,000 155,000 0
= 308,934 307,434 1,500
Al 1,417,918 1,434,123 216,205
sdlls88 21,249 30,769 A9,520
201 LEt2&H| 8,249 10,769 A2,520
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OZ==a(Zl, HE, ) Al&(0aE2)
Z2& 1,800,000 1,800 2,700 2900
301 LEHBHF 5,000 12,000 27,000
12 JIEtEA 3 5,000 12,000 27,000
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—0iH(E8Y Ar) 3E o0& 0 2,700 A2,700
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01 At22teld] 500 1,350 N850
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301 LEt2dS 1,500 10,835 29,335
09 SAIAHIXIRASZ 500 2,835 A2,335
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